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II. PROBLEM
1. (30 points) Dumping and anti-dumping

(1) (5) Provide two conditions under which dumping is said to occur under the WTO agree-
ments.

(2) (10) With the help of a discriminating monopoly model and graphical analysis, explain why
a foreign firm would want to practice dumping. Assume that the foreign country is the
USA and the Home country is Canada. Make sure to mention the important assumptions
of the model. Two assumptions will be that there is perfect competition in the Canadian
market and a monopoly in the USA market.

(3) (5) Explain why would the USA firm find it profitable to sell at a lower price in Canada
than the price it can obtain in the USA.

(4) (10) With the help of graphical analysis, explain why the anticipation of an anti-dumping
duty (or threat of duty) may lead to a larger welfare loss than the standard loss from an
import tariff.

2. (25 points) Import quotas under perfect competition

(1) (15) With the help of a graphic, analyze the welfare effects of an import quota for a small
open economy when there is perfect competition at home.

(2) (5) Describe two scenarios under which the quota is.equivalent to an import tariff in terms
of its welfare effects. (Keep the assumption of a small open economy when there is perfect
competition at home.)

(3) (5) Describe two scenarios under which the quota is worse than an import tariff in terms
of its welfare effects. (Keep the assumption of a small open economy when there is perfect
competition at home.)

3. (15 points) The specific-factors model of trade

Suppose an economy with two sectors: manufacturing and agricultural. Use the specific-factors
model in order to analyse the effect of a fall in the price of manufactured goods.
(1) (5) Describe what happens to the real labor wage in terms of manufactured goods.
(2) (5) Describe what happens to the real labor wage in terms of agricultural goods.
(3) (5) Are the workers better off or worse off with trade? Explain.
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